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Understanding People

Grammar 5(;_(4 ca
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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

11- I do not like to ...... in the sea. I’ve been afraid of water since my childhood.
(w39 WS VA i b 123 0)
1) imagine 2) swim 3) vary 4) eat
12- Our workbook is designed so skillfully that it can enable the students to ...... their goals better.
(w39 WS YY oo b 125 0)
1) arrange 2) quit
3) meet 4) respect
13- A language with very few speakers is called a/an ...... language.
(w28 PLS YO dxio b i o)
1) strong 2) endangered
3) different 4) valuable
14- I usually eat a ...... of bread and a piece of cake for breakfast.
(w33 SUS Yo dmivo b i o)
1) glass 2) slice
3) loaf 4) kilo
15- He knows ...... Spanish words, so he can speak it very well.
(w99 S5 ¥4 dxio b b o)
1) a few 2) alot

3) many 4) much
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PART B: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4).

A lot of languages are losing their native speakers. It means that they probably won’t exist in the next 20 or
30 years. The reason for this is that many people start using a global language to meet their everyday needs. One
of those global languages is English. In today’s world, knowing English is necessary for students, businessmen,
teachers and others.

The main problem with learning English, or any other global language, is that people stop using their native
language. For example, if the people in an African region learn English and use it in their everyday life, their
children will not learn African and start speaking English instead. If they do not know African, then there will
be no African language at all.

16- What can be the best title for the passage?
(w39 DS — (o5 5 il 5 39)

1) English as a Global Language

2) Endangered Languages

3) Native Speakers of a Language

4) Meeting Everyday Needs
17- It can be understood from the passage that ... .

(w39 IS — (o5 5 il 5 39)

1) not many languages are endangered

2) many languages are becoming extinct

3) the African children are learning English

4) English students need to learn another language
18- The underlined word “exist” is closest in meaning to ... .

(w39 DS — (o5 5 el 5 59)

1) live 2) vary 3) meet 4) order
19- Which sentence is WRONG according to the passage?

(w39 LS — (o5 5 il 5 59)

1) English is the only global language.

2) A lot of people need to learn English to meet their needs.

3) There are some problems with learning a global language.

4) If Africans start using English, their children won’t learn African.

20- What happens if native speakers of a language stop speaking it?
(w39 DS — (o5 5 el 5 59)

1) The language remains for many years.

2) Their children will use the language.

3) Other people start using the language.

4) The language will die.
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